
Giải bài 4 trang 160 sgk toán Đại Số lớp 10
Đề bài:

Chứng minh các bất đẳng thức sau:

[image: image1.jpg]a)5(z —1) < 2°-1 < 52!(z — 1), biét -1 > 0
b)z® + y*-ziy-zy* > 0 bibtz +y >0
©) vAa+1+ a6 +1+ yAc+1 < 5, biét réing a,b,c cinglonhon — va a+b+c





Đáp án:
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=5zi(z—1) >(@z-1)(a' +22 +2? +z+1)=2"-1>5(z—1)

Vay 5(z — 1) < 2°-1 < 5a*(z — 1) khiz > 1.

b) a5+ 3 —aly—zy'= (2 +y) (' — 2y + 2%y -z +4t) —2y (P +4?)

2y + 2%y’ — 2y +4%) — 2y (a® - 2y +47))

= (@+y) [

= (@+y) [ +2e% +4") —22y(* +97)]

= @+9) (-1 (@ +1?) 20doz+y2 0 -y 20,2+ 20

o (VEaFI+/B+1+ EF1)
=4(a+b+ec)+3+2/TaF1y/Ab+1+2/TaT1/Ae+1+2/db+1/TcF+1
<4(a+b+c)+3+(a+1)+ (4b+1) + (da+ 1)+ (de+1) + (4b+1) + (de+1)
<12(a+b+¢)+9<21<25
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